[image: image1.png]AIMforA
Tutoring





Topic: Improving Sentences                            

Chapter: Pronouns

A Pronoun is a word that can be used in place of a noun or a noun phrase. For example- I wrote to my brother and told him what he should do.

There are different types of Pronouns- 

Personal Pronouns

Personal Pronouns refer to the speaker (first person), the person spoken to (second person), or the person, place or thing spoken about (third person).

· Personal Pronouns must agree with the nouns in gender, number and person for which they stand. For example-The apples are ripe. They are very juicy. 

· When a pronoun stands for a Collective Noun, it must be singular in number. If the Collective Noun conveys the idea of separate individuals composing the whole, then the plural number must be used. For example- 

The Senate is holding its meeting.

The Senate (= the members of the Senate) gave their votes.

· When two singular nouns joined by ‘and’ refer to the same person or thing, the pronoun should be singular. For example-The poet and statesman has come to give his speech.

· But if the two singular nouns joined by ‘and’ refer to different persons the pronoun is in the plural. For example- The Secretary and the Treasurer did do their duties.

· When two or more singular nouns joined by ‘and’ are preceded by ‘each’ or ‘every’ the pronoun must be singular. For example-Each policeman and each home guard was at his post.

· When two or more singular nouns are joined by ‘or’, ‘either’…or’, ‘neither…nor’, 

      the pronoun is in singular. For example- Rita or Anne has lost her book.

When different persons are being referred to, the plural is used. For example-Neither Alan nor his friends admitted their guilt.

· When a pronoun refers to more than one noun or pronoun of different persons, the pronoun agrees with the first person rather than with the second or third person, and it agrees with the second person rather than with the third. For example- Danny and you have lost your chance.

The Use of ‘It’

The Pronoun ‘It’ is used:

· For things without life, for animals and for young children. For example- 

I had a good bag. I lost it.

· As an empty subject. We often use ‘it’ in sentences referring to time, weather, temperature or distance. For example-It is raining.
· As a Preparatory Subject. Sometimes sentences beginning with ‘it’ continue with an Infinitive, a Gerund or a Noun Clause. It is possible to begin such sentences with an Infinitive or a Gerund but we generally prefer using ‘it’. For example-It is wonderful to lie in the sun.
· To give emphasis to the noun or pronoun that follows. For example-It was you who first began the negotiations.
Reflexive and Emphasizing Pronouns

Reflexive and Emphasizing Pronouns are: myself, yourself, himself, herself, itself, ourselves, yourself and themselves. For example-The city itself is not very large.

Relative Pronouns

The Pronouns who, which, that and what, which join two sentences and relate to nouns which have gone before, are called Relative Pronouns. The Noun, to which a Relative Pronoun refers, is called its Antecedent. For example-This is the boy who gave me a pen.

Omission of the Relative Pronoun and its Antecedent

· The Relative Pronoun in the objective case is generally omitted as. For example-I am monarch of all (that) I survey.

· Sometimes the antecedent of a Relative Pronoun is omitted. For example-Whom the gods love, die young. ( =  those whom)

Practice Questions:

Choose the correct answer:

1.

One must use one’s best efforts if he wishes to succeed.

A: One must use one’s best efforts if he wishes to succeed.

B: One must use his best efforts if he wishes to succeed.

C: One must use one’s best efforts if she wishes to succeed.

D: One must use her best efforts if she wishes to succeed.

E: One must use one’s best efforts if one wishes to succeed.

Correct Answer: E

Explanation: The indefinite pronoun ‘one’ should be used throughout, if used at all.

2. 

She was taller than anyone of her five sisters.

A: She was taller than anyone of her five sisters.

B: She was taller than either of her five sisters.

C: She was taller than anyone of my five sisters.

D: She was taller than either of them five sisters.

E: She was taller than anyone of us five sisters.

Correct Answer: A

Explanation: ‘Anyone’ should be used when more than two persons are spoken of.

In Choice B ‘either’ is incorrect as it is used only when two persons are spoken of.

The pronouns ‘my’, ‘them’ and ‘us’ are incorrect because with the third person nominative ‘She’ only ‘her’ matches.

3.

The boy is the son of my friend Mr. Lawson who won the first prize in English.

A: The boy is the son of my friend Mr. Lawson who won the first prize in English.

B: The boy, which won the first prize in English, is the son of my friend Mr. Lawson.

C: The boy won the first prize in English is the son of my friend, Mr. Lawson.

D: The son of my friend won the first prize in English is the boy of Mr. Lawson.

E: The boy, who won the first prize in English, is the son of my friend, Mr. Lawson.

Correct Answer: E

Explanation: To prevent ambiguity, the Relative Pronoun should be placed as near as possible to its Antecedent.

In Choice B, the Relative Pronoun has been used incorrectly; ‘who’ refers to the boy not ‘which’. In Choices C and D, the Relative Pronouns have been omitted. In Choice D the nouns have been placed in a confusing manner.

4.

 My friend and my friend’s wife let their little boy open all his gifts at once on Christmas morning.

A: My friend and my friend’s wife let their little boy open all his gifts at once on Christmas morning.

B: My friend and his wife let his little boy open all his gifts at once on Christmas morning.

C: My friend and his wife let her little boy open all his gifts at once on Christmas morning.

D: My friend and his wife let their little boy open all his gifts at once on Christmas morning.

E: My friend and his wife let their little boys open all his gifts at once on Christmas morning.

Correct Answer: D

Explanation: Here the pronouns have been used correctly. 

In Choice A, it is redundant to repeat ‘my friend’ as ‘his’ refers to him.

In Choices B and C, ‘his/her little boy’ is incorrect. ‘Their’ should be used with a plural subject.

In Choice E, the singular pronoun does not match with the plural noun ‘boys’.

5.

The book you see on the table cost me a hundred dollars.

A: The book you see on the table cost me a hundred dollars.

B: The book you yourself see on the table cost me a hundred dollars.

C: The book seen by you on the table cost me a hundred dollars.

D: The book, which you see on the table, cost me a hundred dollars.

E: The book on the table, which you see cost me a hundred dollars.

Correct Answer: D

Explanation: The Adjective Clause beginning with the Relative Pronoun ‘which…’ qualifies the noun ‘book’ in the Main Clause.

Choice A is incorrect because it omits the Relative Pronoun.

In Choice B the Reflexive Pronoun is redundant.

Choice C is written in the Passive Voice making it weighty and complicated.

Choice E is ambiguous as the Relative Pronoun is placed far from its antecedent.

6.

The Korean martial arts form Taekwondo stresses on the importance of the kick, which distinguishes it from other martial art forms.

A: The Korean martial arts form Taekwondo stresses on the importance of the kick, which distinguishes them from other martial art forms.

 B: The Korean martial arts form Taekwondo stresses on the importance of the kick, which distinguishes those from other martial art forms.

C: The Korean martial arts form Taekwondo stresses on the importance of the kick, which distinguishes it from other martial art forms.

D: The Korean martial arts form Taekwondo stresses on the importance of the kick, which distinguishes other martial art forms.

E: The Korean martial arts form Taekwondo stresses on the importance of the kick, which distinguishes these from other martial art forms.

Correct Answer: C

Explanation: The Pronoun ‘it’ refers to the subject Taekwondo. The other pronouns ‘them’, ‘those’ and ‘these’ are incorrect. Choice D omits the pronoun making the Adjective Clause meaningless.

7.

This is the question whose solution has baffled philosophers of all ages.

A: This is the question whose solution has baffled philosophers of all ages.

B: This is the question whose solution has baffled of all ages philosophers.

C: This is the question and its solution has baffled philosophers of all ages.

D: This is the question but its solution has baffled philosophers of all ages.

E: This is the question of all ages with its solution baffling philosophers.

Correct Answer: A

Explanation: The Relative Pronoun ‘whose’ has been placed near its Antecedent.

In Choice B, the phrase ‘of all ages’ should be placed after philosophers.

Choices C and D have misplaced conjunctions ‘and’ and ‘but’.

In Choice E there should be a comma after ‘solution’ to make the sentence meaningful.

8.

Certainly, for the full development of his sons and his daughters, parents ought to give him the benefits of a summer in a modern camp.

A: Certainly, for the full development of his sons and his daughters, parents ought to give him the benefits of a summer in a modern camp.

B: Certainly, for the full development of sons and daughters, parents ought to give them the benefits of a summer in a modern camp.

C: Certainly, for the full development of our sons and daughters, parents ought to give them the benefits of a summer in a modern camp.

D: Certainly, for the full development of those sons and daughters, parents ought to give the benefits of a summer in a modern camp.

E: Certainly, for the full development of their sons and daughters, parents ought to give them the benefits of a summer in a modern camp.

Correct Answer: E

Explanation: The pronouns ‘their’ and ‘them’ have been appropriately used to refer to the ‘parents’ and ‘sons and daughters’ respectively.

In all the other Choices the pronouns are incorrect.

9.

 I with my family reside in a village near Somerset, which consists of my wife and three children.

A: I with my family reside in a village near Somerset, which consists of my wife and three children.

B: I reside in a village near Somerset with my family, which consists of my wife and three children.

C: Near Somerset I with my family reside in a village, which consists of my wife and three children.

D: I with my family reside near Somerset in a village, which consists of my wife and three children.

E: My family and I reside in a village near Somerset, which consists of my wife and three children. 

Correct Answer: B

Explanation: The Relative Pronoun ‘which’ stating about the members is correctly placed near its Antecedent ‘family’. The expression ‘I with my family’ is incorrect in Choices A, C and D. 

10.

To use the satellite phone we had to reduce our speed to a knot or two, which made the boat loll about awkwardly, making them feel sick despite our seasickness pills.

A: To use the satellite phone we had to reduce our speed to a knot or two, which made the boat loll about awkwardly, making them feel sick despite our seasickness pills.

B: To use the satellite phone we had to reduce our speed to a knot or two, which made the boat loll about awkwardly, making one feel sick despite our seasickness pills.

C: To use the satellite phone one had to reduce our speed to a knot or two, which made the boat loll about awkwardly, making us feel sick despite our seasickness pills.

D: To use the satellite phone we had to reduce our speed to a knot or two, which made the boat loll about awkwardly, making him feel sick despite our seasickness pills.

E:  To use the satellite phone we had to reduce our speed to a knot or two, which made the boat loll about awkwardly, making us feel sick despite our seasickness pills.

Correct Answer: E

Explanation: This Choice is the best answer as the pronoun ‘us’ matches the plural subject ‘we’.
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